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Answer as indicated:

(n) List three similarities between heat and work. (6%)

() During a phase change process of a pure substance, ils enlropy and lemperalure remain
unchanged. True or False? Why? (4%)
(¢) From a viewpoint of thermal- fuid science, give a practical interpretation for the second law of

thermodynamics.  (10%)

Air at 27°C is contained in a rigid tank, which is placed on an electric burner.  The sides and lop of
the tank is insulated while the bottom allows free heat transfer. A thermometer is inserted into this
device to record (he temperature while the air is heated.  Afler 20 minutes, it was found that the air
temperature inside the tank was 138°C and the amount of electric encrgy required to heated up the air

was 1.0 Watt-hour. Determine C, and ¢, for the air.  Assume the mass of air conlained is 0.045 kg.

(30%)




